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Nuuwupgiw
u
Unruueuer
1 18141100 wpuwnwlipuh dkintinglitip Uu qQuuyq 700 35 50
i ’1 T)Mll)UU WnihEp bl wuply, wgp) hundwip Uu huwn 300 60 200
! 22811110 RPOpE Jud unjwpupnph qQpuiigudwnjwbiibp Uu huwiwn 800 1.6 2
24451141 wlunuwhwihy hinmy tyniplip Ainpkiph hwdwp U Ty 2000 10 5
uthpl 0.5
24451141 Uhuinwhwilihy htigmy Unipkip wnuhply 0.5 Uy hun 1200 24 20
24451141 wluwnwhwlipy htnnil Wniptp dknplipp hwdwp Uu Lhwnp 1500 75 50
24451141 whinwhwlipy hinnil) wnipbip dwytplinyph Uu o 1500 e 0
huwiluip
24451141 |Ujiinwhwitihy hlinnily byniptip Abinptiph hunfwip 8)108 thwp 1500 223D 15
30192111 |@wlwp, Yuhph pwpdhlh hudwp Q2 hwiwn 500 2 4
30192111 |@wbiwph pwpdhljutp Q2 huin 2900 11.6 4
30192121 |9phy qunhljunp Q2 hun 70 315 50
| 30192130 |Uwwnhwlikp Q2 huwnn 120 1.2 10
é 30192210 "111]_]11“.[)111]]111 ]ﬂlphutllulynh Lhuulun]lm Q2 hunn SO0 5 10
30192220 | Minjpudbipwjhl hiplwlujsni Jwiujuytil, thnpp G2 hunn 150 15 10
‘ 30192230 [Uyny" kplynnuwih unuliduwd Q2 huwn 300 0.6 2
i 30192710 |Unubdwnfwnpun, qpuiukiywljught Q2 hun 200 2.4 12
) 30192730 |Ywquwpupwljub punubp yunhly Q2 hunn 120 60 500
30192730 |9pph YJwuqu unupupnph U huin 80 40 500
30192732 [Mwpnyp Guquuwpupuljwl wjjwunhl G2 ubtunp 360 54 150
30197112 [Ywphyh dbwnunqupupk Yuybip, dhoht Sk uini 160 2.4 15
30197120 [Yndquidlitip 92 wnnith 150 0.75 5
30197230 |Rnpuywbwl’ $uyikpm] Q2 hwin 400 8 20
30197231 |@npwywbiwl, wn Epugh punuitip, $uy G2 hwn 1000 20 20
30197232 |@npunyubiul, wpwquljwp, pypjw b2 hwwn 150 8 20
30197323 |Ywphy, 50-hg wybkh pLpph hwithup Q2 hwn 12500 50 4
30197622 [@Pnunp, A4 pnpuunnh S22 ljq 720 252 350
30199420 |@nugp bpnulubiph hudwp, unubidjwdpny] Q2 hwin 240 2.4
30199430 [Onup bpnudlkph, upguljikpny Q2 hun 180 1.8
30211200 [Hnipwlhp hunfwluipghy UuU hunn 415000 415
30216200 [tnybwljuliugiwi pwpw upnugnn uwpp Uy huwin 6000 12
30232231 JUpwwppl hhpnnnipynil 2 TB Uu huin 44460 44.46
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30234650

1t hhonym Ry, 32GB UL hwwn 6000 60 10

30237310 PWppphelilip nyhsiliph hundwip Ut hwwn 4000 40 10
1211180 funfuiniwn unlwuunlth.p Utk hwiwn 1500 15 10
Slaslery 'l;"lllil‘]::::;;l““h L L pntgto, MG Ul dtiunp 200 6 30

[ 31521210 Lundyy LED, 20 U Ul hwin 1500 20 13

[ 31521220 Lunly LED, 10-12 tn, 60 w Ul huin 1800 25%2 14
31521220 [Lwdyy LED, 18-20 Wuin, 120 uy Uu hwin 2000 28 14
31685000 Jjwp Lphuipuguat UL hwwn 3200 13 4
32341100 ]\mmm]mll Uu hwwn 2000 12 6
32581140 {Uwyniju VGA 10M Uu hwwn 7200 72 1
33141129 [n|uhay Uu hwwn 50 25 500
33141129 |nhuwy Uu huin 25 1215 500
33761000 |9@mquipuilih pnt np Uu hwwn 100 2 20
33761400 | Pyph whdlinnghy Uu hwwn 150 15 100
34921440 puhnutbiph b wnph nwpwibip b wnpunfwinbp Ul hwwn 3000 30 10
38931200 | Lwiqipuyht otpuwswith knnunwihng Ul hwwn 35000 35 1
39221130 |Pwdwly hjnie 300u; 6h Uu huwwn 1950 1295; 1
39221140 |RPwdwl) umpgh 3/ 100Uy 6h Ul hwuwn 6800 6.8 1
39221140 Fudwly plijh 2501 6h Uu hunn 10200 10.2 1
39221260  |Udhub pwin. 7.5/18.5ud 1h Uy hwwn 1650 919 6
39221260 |Udhubi pun. thinnny 10/25ud Th Uu huiwn 3150 8l 1
39221380 [9nuy 6h Uu hwwn 1450 1.45 1
39221390 | Munnwnwpun 6h Uy hwwn 3050 3.05 1
39221490 uyniigutip Ul hwwn 250 155 6
39241120 [“hwliuly UBd wyy gniliundnp wyny 6h Ul huwn 850 0.85 1
39241210 Ul pun, gpuubityjwljught Ut hwwn 600 12 20
39263200 qpuukyuljughe ghpp, dwnjuti, 70-200ty, Uu o 750 s o

unnnuitih, unghunwly totipny

39263400 @Fnph 1L1\111111l|11h[{ Uk 2 wnnup 750 75 10
39292510  [Rwlinb, yjjuuny 2 hwwn 280 28 10
39522330 Uwippnn puinplikip Uu hwn 300 12 40
39812600  |Uwppnn thnoh uu huin 350 5.6 16
39831000  |Qtnling nbnbiuwljul Uu huin 200 12 60
39831000  |Qtnling minbuwljub Uy Spetifsl 400 16 40
39831100 ({rugnn Wynplip wihukubiph Ul huwn 500 8 16
39831240 Uwppny yniplip dunby Uy (hup 120 12 100
39831240 Uwppnn fynipbip wyun Uu hun 650 6.5 10
39831240 dwppnn Wyniplip Yuwihnyph, wikengn) puliupljty uu ] 1000 10 10
39831246 oawn hligniy Uy Lhwnp 450 4.5 10

%N(\‘Kl'_’-{h O&wn htinntl Ut thnp 450 9 20
39831262 htnnulj odwnh pwpfupy uwipp uu huin 6000 48 8
39831283 | 2wl onp (U} huwwn 450 10.8 24
39836000 [w|by, unynpwiljul uu hun 1500 15 10

J{WIOO L]"(]lll]al““ll» wnpp hun[mphLm hwidwp, dnnny Ul huin 2500 S 8
39839300 |phwly djnil dwpplipnt hwdwp Ul hwwn 4000 12 3
42991100 [Ywquwpupwlul uwppbp uu hwwn 39000 39 1
44161230 | funnnyjwljlikipp wwpuqubitip Uu huin 3000 60 20
44192611 UL dwnifup wuwnpb wdpuiglbyng hundwip U nnuth 650

| 44411110 | opp dnpuly, 1 hwljwiing Uu hwn 2500
44411500 [hwljuli’ qigwdl uu hunn 2009
44411740 qnquipwbulntp uu hunn 35000
44411741 [qmqupwbilnliph (nipub Uu hun 2000
44411742 [qgniquipuiiwlynliph dkjuwhqu uu hwwn

L 44423400 |gmguilialjubip b hwpulpg wnwpljutibp 1 Ul hunn




44423400

gngubiwluitp U hwipwljhg wnuipljulibp 2

Uu

e ue

Unijhinnpnljub Swnwjnipjniiibp

hunn 25000 50 2
44521121 [@wlwlh dhoniy Uu hwwn 2800 56 20
15911100 |Rdojuiljuil uyhpun 96% Uu hwwn 5430 43.44 8
39241270  |Qtnph upulhy 2 L uu huwin 1800 3.6 2
39831247 |k Uu thunp 150 135 10
OUNUSNPR3NRLLLL
48441300 huwpjuywhwlwt hwiwlupgswht dpwigpuiht Uu o 560000 560 1
thwpkpttp /20
48511500 thmul.|nhfphptuhu]1 hwdwupgywght dpwqpuiht Ul dah 7840 6272 3
thwpkplbp
h
50311120 wiwlupgywiht uwppbph wwhywdwb b UL i 200000 200 )
YEpwlnpnquwi dwnwijnipjntliibip
50311120 huldwl{ulllqzuljhh uwppbiph wwhwywbdwb b VU A 300000 300 |
YEpwlnpnguwh dwnuynipjniliitip
50711100 wqnuitpwliught huuhul.llupqh YEpwlinpnguut Uu St 300000 300 |
dwnuynipiniliibp
2klpkpnud nknuiljuyjus BEYnpuljut uwppkph
50711100 YEpwbnpnguwt L wuwhuywlidwb UU - 250000 250 1
dwnwnipynihiibp (oqnplul{hzllhpf’uumhlupmhhbp‘
onunpnpupsikip b wy )
55521300 uliinh wnwpdwh dwnwinipiniliitip Uu nnuth 3500 140 40
60141100 ﬂmhnpmqln]ulur}pdulh bumuljmla]mhhhp Bpliuh - Uu R 43000 86 9
“thihowl - bplwt Gppnuyny
60141100 Nnnputhnuwgpudwi dwnwnipynitiikp Eplwt - Uu i 83000 330 4
Etpy - Bplwb Lppnuny
n G ip &
60141100 munputhnjuunpuwb dwnwynipiniit p Gpliat U as 82500 330 4
LnjEplipjwl - Bpliwb tippnuny
60141100 Nulnpunhnjuwnpuwi dwnuynipyniliikp Gplw - Ulu il 63000 959 4
boliuli - bplwih tppninny
60411200 Ywlinbunnp onuyjht thnfiumpuwl Swnwynip)nil Uu e 186750 186.75 1
(unJhwnnuu) bphulipUnulp{m, Unuqqm—[;plnuh
I
60411200 Ywlnbwynp onuyht thnfuwnpuiw Swnwynip)nil Uu Y 116764 116764 ;
(whunnniu) Umnlll[lu-'}mzulhph
fwt &
60411200 Ywlintwynp onquiht thnpiwnpdwb Swinwgn pjnth Uu e 194266 194.266 1
(whwunniu) r}mzulhph—U'null\[m
64211100  |hwlipuyht hkpwjunuught Swnwynipynihitkp Uu npud 200000 200 1
64211130 | poowyhla hknwlunuliiph Swnwynipjnihiibp Uu. npund 300000 300 1
65110000  Juukjnt oph pwppunuu Uu wwph 200000 200 1
65211100 |qugh pwpjunud UU. u3 140 4000 | 285714
65311100 bEjunpulwnipjui Pwfunud Uu Yd/d 48 5000.02 | 104167
66111200 |[pwlbljuyhu dwnwynipjnitiikp U nwph 200000 200 1
guliguyht, hwlwgwgwht b ukppht
L
72211124 Swnuynnujuit uyph (htwnpuit wh) Uu ot 600000 €00
hunfwluipgywyht dpwqpuihl thwpbpubph
Upwljuwl dwnwynip)niliip
72400000 | hwdwgwigwjhty dwnwynipjniblibp Uu npwd 300000 300
72411100 |«<Unpynpunpy htnkplbn, Swnwjnipnt Uu npud 420000 420 |
u
72411500 hunlwgwhguwiht bobpp hnuphtgh Uu i 150000
dwnuynipjniibbp ol
72411700 |nnublwghl wlhjulinudhikp Uu npund
miwl hwdwlwpgh wkbhulwl
76131100 - |THAEEEESEE S UU | wupp
uywuwphiwb dSwnwynip)nithibp
76131100 |ququunwph uywuwpynuf Ul
76131100 |hwlwhpnbhwjht wlyuiwbgnipnih lﬂl
79211150




Upwlynud

T z : 100 1
79221300 Uwpuwgh o holinpnh (Ppnplip) duinuynipymitilibp Ut npuud 100000 - 1
79221300 |Uwipuwyhli djrglinpny (ppnplip) dSwnuynipynitiikp | 2UU il 77oa 504;: 1
79221300 |Uwipuwjhl Upelinpyh (ppnplip) Swnwynipyniliitip QL pud 504000 0 :
79221300 [Uwpuwhle Uholin NP (Ppnpbip) dwnwipnipyniiikp Z npuutd 630000 = %
79531100 |Pupguubiyw ity dSwinwynipnthiikp N1 Q2 hwun 4000 200 -
79531100 | Bwpquwiliswlul ?smmu]mp]mhhl‘.p N2 92 hunn 3000 600 20
79810000 | wiyjugpuiljpuily dwinwynipiniliibp” poi b Ul hun 10 /2 : 50029
79821200 [A4 mujugpnipnit Lpylnidwi) 80 gp/d Q.2 hwwn 10.8 1624.63 | 1504 :
79821200 |A4 nyugpnipnil Lplynnuwti) 65 qp/u 2 hunn 7.8 8872.33 [ 113747
80521200 «LRM 10» wnwpljugh YEpuunpuuimiuh Q. T 84000 84 1

duwnwiym Pk =
80521200 «Guufunn 2» wnwpljwgh Jbpugunpuundu Q. hwwn 168000 168 1
dwinwynipjniliibip &
80521200 uSh|\11m[nq|ml 2» wnwipljugh L[l'.[uuuluun[mlmm[mh Qs Firih 210000 210 1
dumwinipincliiip 3
80521200 «Skulininghw 5» wnwiplugh YEpwjuinpuundwb Qs T 210000 210 1
dwnwynipymlitp
80521200 «bhqynipnnipu 2» wnwipljugh Qz pel 168000 168 1
YEpuwpunpuundwl dwnuwnipjniliitip
«bhqy »
80521200 bhqynipinnipw 5,7, 10 wnwpljugh a2 i 210000 210 1
YEpuyunpuunidwt dwnwynipjnihililip
«U ipkl 5» i
80521200 Lgiliptit S» wnuplugh gt puyunpuunduh a2 fans 126000 126 1
dwnwynipniiitip
« T S»
80521200 Gu b pul hwypkuhpp wnwpugh o i 168000 168 1
YEpuigpuinpuiuniuh dwnwynipjniliibp
«Zunhwppiuphwih wundnipynit 7, 100
80521200 Jwnwpljuyh JEpuguinpuandwt Q2 hunn 210000 210 1
dwnwynipjnibiibip
80521200 | Onwubipbe S» wnwipugh JEpugunpuundwt 0 e 168000 168 1
dwnuwinipntiikip
90511100 Jwnputhwtinipintl Ut nuph 300000 300 1
92311180 |«Upytiuwn 7» ynipliph pypwwubiwljh dowlnud Q2 hwwn 250000 250 1
92311180 |«Upykuwn 10» ynipliph ppwywbulh dpwlynud Q2 hunn 250000 250 1
92311180 «Bpwdpnnipinit 2> Wyniptiph pnpuywtiulh Q2 fanh 250000 T :
Upwljnud
92311180 «Gpuwdonnipnit S» Wynipliph pypwywialh a2 e 0000 e :
Upwlnul
ooattign  |fRSIE R LR R G R 92 hun | 250000 | 250 1
Upwiljnud
92311180 «Bpudonnipnit 10> Untpbliph pnpwuywbalh Qs A 250000 ks :
; Upwiljnud
92311180 satpuipuRun 2 Uintek e SRILIEH Q2 huwn 250000 250 1
Upwilnud
12311180 stmuuininss WniphiliEn ) Q2 huwin 250000 250 1
228 Uowlynidf
<tpyupybun 7> Wynipbph pnpwywtuh Q2 Mt 250000 250 1
92311180 .
Upwlnud
92311180 Qhpyupybun 10> Wynipbph prpuupulialh a2 hitia 250000 250 i
; Upwljnud
92311180 [«LQM 10» Unipliph pypwywbwlh dpwlnud G2 hwwn 250000 250
92311180 |«Cwuluwin 2» iynipliph pppwujwbwljh dywljinud Q2 hunn 250000 250
92311180 «Shjutinngpw 2» iynipbliph prpwwwbulh az i 250000 250
Upwljnud
92311180 «Skjulininghw 5» Wnipbiph pnpwuwbiuh az M




«bhqynipnnipw 2» tympliph prpwiyuitiulgh

92311180 2 0 hunn 250000 250
Upwlynul

92311180 «bphqynipnnipw S» lympliph prpwgutiulh Q2 Lt 350000 9%0
Uswilynud

92311180 «dhglnipnnipw 7s tynipliph ppwupwbiulh Q2 it 250000 250
Upwynud

92311180 «bhqynipnnipw 10» bymipbiph prpwyutiagh Q2 s 250000 250
Upwlynul

92311180  |«Uligikiptili 5» Wniptiph prpuggubalh dowlnud Q2 hun 350000 350

92311180 «Gpuljulinipymb 7» ymptiph prpwuwtnalh Q2 R 350000 150
Upwilynud
« In 1 2 P

92311180 Spwlwlinipmnit 100 Wynipbipp prpwywbiulh a2 R 150000 150
Upwilynul

92311180 «Gul [1\1. hwyplihpp S» bymptiph prpwujwliulh Qz Fo 350000 350
Upwilynud

92311180 «2wlwppiuphwihb wuwnmdnipyni 7» Wnipkph 9z e 350000 350
RPRwwwbwyh dowlnud

92311180 sZwdwpiwphwipl wwndnipynt 10 Wmptph Q2 it 350000 350
Pnpwyjwbwlh dpwlnud

92311180  |«2wyng |qnt 7» Uymptph prpwwyubulh dowlnud Q2 hunn 350000 350

92311180  |"2wIng LEqni 10» ynipliph pnpwywbwlh a2 e 350000 350
Upwilynud
«2 G 7» ]

92311180 wing wwndnipini 7» Wynupkiph pPrpwywbiwlh Qs 0o 350000 350
Upwlnuf
«2 10» k

92311180 [*<4In9 yunntnipinik 10» Lnuptiph Q2 hww | 350000 | 350
pPnpwwwbiwyh dpwlnud

92311180 «2wuwpulughnnipmih 7. tyn plph a5 R 350000 350
prpwujwbwlh dowlnud
«2 C ) ]

92311180 wuwpwlughunnipini 10 iynepbiph Q2 e 350000 350
prpwwwbwlh dswljnud

92311180  |«Uwypklp 2» lynipliph prpwyjwiiulh dpwljnud 92 huin 350000 350

92311180  |«Uwyplilih 5» Wniptiph prpwywbwlh Upwlnul Q2 hwn 350000 350

92311180  |«[tnuubpkli 5+ Wniplph prpwgwbiugh Upwilynud %2 huwn 350000 350

92311180 |«bpwlubipb 5» lynipbipp prpwupubiwlh downud G2 hunn 350000 350
<Uppwljwl hundwhp dpughp g dwililnyppu

92311180 Junwphph wnweht pndph (0-1 bl Q2 huwn 350000 350
tpbjuwlitiph hwdwps bynipbph dowlnud,
«Uppwljul hunfwhp dpughp Yuy Uwbinipyut

92311180 [inwphph Epypopn padph (1-2 mapbijub) G2 hwin
Lptjuwbitiph hundwips Wympbph dulnud,
<Uppwlwb hwdwhp dpaghp Ypuuatip wnwohl

92311180 ffuudph (2-3 nmwpbjub) Epklawbbph hadwpes Q2 hwwn
Unipliph dowljnud,
“Hppuiljwl hunfwihp Spughp Ypuukp Eplpnpn

92311180 fudph (3-4 nwipbljub) Epbawbitph hudwpe T hunn
Lynpliph dpwlnud,
<Uppwluls hundwpp dpwghp dhoht fudph (4-5

92311180 Junwpbljul) Epbjuwbtiph hudwps bngpbiph Q2

Upwlynud,

92311180

<Uppwljwl hunhuhp dpughp wijwg udph (5-6
nwpbwl) pbwbtph hudwps bngpkph
Upwilynul,




«0-6 nwpbljul hphhlulhhph Uppwlb hwdughp

. 1
92311180 [dpugpliph Hhapljuljul nuuwnhwpulnipjul G2 hwwn 150000 150
pwidhtiy Umpliph Upwilynuf,
<0-6 nupkljub tpbhiutibph Yppuljut hudaghp |
92311180 |dpwgpbiph bpudpnwljui nuunhupulnipyul Q2 hwn 150000 150
pudhtis Ujnipbiph Upwlnul,
«0-6 nwpkljut tpkjuwbibph hwduip Urwilpnn
l;ppulllum huu[ul[]\p épmqpl.ph
92311180 hunhuu]unnLuu]\nullhgm Up viwphpuhl Q2 hwwn 150000 150 1
Lumuh(\\lmhlmnqmp]mhllhphh»
]unphpx]luuu]nme'llhhph unpwiwnpnu:
92411100 |plipptphu pudwiinpyugpuut dwnwynipnihiip Uu nwph 500000 500 1
98341140 2EUph wuwhywlidw dSwnwynipyniiibip Uu wnwph 3420000 3420 1
Cunundbup 50284.6
Nunyhpunmb’ «Uppnipjut quipqugdwl b Unpwipnipniiibph wqquyht YEbnpnts hhdtwgpud
(pun pyngtinnuhl dwijuubiph qEpunbuywljub nuuwljupguul)
Opwghpp
Uljulinudp” Lufibwlub dwubwghunwub (wphbuwnwgnpdwluwl) b thohtt dwubwghunwlub Yppnipjub b
nuunigdwl (UUNR) pupliginjunudubp
pudht 09 junudp 06 nuiu 01 dpwghp 15
(puwn pinwbnwyht dwijuubph gnpdwnwljub puuwljupguwh)
Sudwb wnwpluyh
Uhowlighy Gudwt [ Quhh | Uhuynph | Snudup | Rutiwlp
dwdljughpp Aup [ dhwynpp ghlip p (hwgq.
pun GUU Juwbiuilinudp npuwd)
I]lllllllll]lll[l(]l[lll
[0
Uunruueuer
22811150 hnpuunl‘.\nphﬁ UYNh2UY-h nnwpplipubipwling Ul hwwn 500 550 1100
30192121 qnhs qunhunp UUNHQUY-h nwpplpwiipwimg] Q2 huwn 500 550 1100
30192121 [9phy qunhlugnp U4NHKQUY = hwwn 70 2.1 30
30192125  |Uwplkpubp 42 hunn 250 20 80
30192125 Ulupl.ll{phhp uljuunwubiph Jpu gpline az Yo 200 5 "
Uynhuy
30192710 Unubdwiwunpun, qlnu\1L1|]L11L|u1]]1h Uunheuy Q2 huwwn 200 4 20
30192920 [Nugnpy htgniyulip UUNHhQUY 92 huwn 250 3.75 15
30197111 Yuiphsh dbnwnupupt jugbp, thnpp U4 NRUY Q2 wnntth 90 1.35
30197112 |Ywphsh dbnwnuipuph jugbp, Uhoht U4NhUY Q2 wnnth 160 2.4
30197220 fnph wilpuljiip Uynheuy Q2 huwn 120
30197230 |Erpuyubwl U4NHRUY-h nwpphipuiipwiing G2 huwn 600
30197230 |Enpwywlwy” puytipny UHAROUY 2 huwn 400
30197231 anpwujwbiwl, wnpdbpwht punwbp, Sy Q2 Lt 1000
uunh2Uy -
30197621 | $ihupwpwhp pninp G2
30199420 Eninp Upnudibiph hudwp, unubidwdpny Q2
UunhQuy
= 9
30199430 |@nunp Lpnudikph, mpguljiipny] U4 0hRQUY Q2.
30211190 JUbdbwlwl hunfwluipghs :
30234300 | nuunwiply uljuiwnuily, wnwhg nnuhh, €D




30234400

qunwpy ujwyjwnwy, wowilg ninithh, DVD

Uu hunn 100 25 25
30234650 | ko hhonnnipinit, 32GB Uu hunn 3500 56 16
30237310 PWpppholbip wwhstkiph hunduip Uu huin 4000 40 10
24451141 Ulunwhwlihy hknmy Wnipkp wynughpl 0.5) Uu huwin 1200 30 25
24451141 Upnnwhwlihy htigniy Wnipkp dknphph hunfwp Uu [hwnp 1500 30 10
15911100 |Rdouljut uwhpwn 96% Uu hunn 5430 48.87 1
39111190 | Puqluipnn Uu. npud 80000 80 1
QUMUSNhR3NKLLEN
hunfwwipgywiht uwpptiph wwhupabidwb b
50311120 = ) 200 1
YEpwlinpnguwi dwnwynip)niliibp e Qi By
= hp\ummpmlpnqalluh Swnwynipjniliibp’
79551300 Z 2
Abnbuwplukp G2 npund 3195000 3195 1
79551300 hpmmmplul{lmp]mh bumm]mp]mhhtp o - 1050000 1050 )
wuluwgpkp
79810000 nyugpwljubl dSwnwynipnililitip YYwjwlwtibp Uu. npud 250 275 1100
79810000 nyugpulul Swnwynipjniliibp’ dwinjwlikp Uu. npud 100 12 120
80521200 Bplwbph yhwnwluh ukjuininghwjuitb pnikonud Qs s 54000 54 |
wlglwgynn YEpwywinpuunnuf
Eplwbh U Pupwowlyutip whjub whnwhwh
80521200 hpuldgunudulhl;mlltupdtuqmh pniionud Q2 huiwn 54000 54 1
wliglugynn YEpwyuinpuunnu =
Eplwh N6 wphbunwgnpdulwh yhunwlul
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